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QUESTION 1

What is not a step within the Infrastructure Close task? 

A. Conduct a final system back-up. 

B. Revoke consultant access to client systems. 

C. Conduct training of client IT staff. 

D. Document the technical environment. 

Correct Answer: C 

 

QUESTION 2

Select three benefits of the Oracle Unified Method. 

A. It provides a common language. 

B. Easier integration of acquisitions. 

C. It decreases implementation time. 

D. It reduces duplication and focus methods investment on deeper materials 

E. It decreases implementation costs. 

Correct Answer: CDE 

*More Cost Effective ?OUM facilitates improved control of project expenses by using a flexible work breakdown
structure that allows you to perform only necessary tasks. 

Note:The Oracle Unified Method (OUM) is Oracle\\'s standards-based method that enables the entire Enterprise
Information Technology (IT) lifecycle. OUM provides an implementation approach that is rapid, broadly adaptive, and
business-focused. OUM includes a comprehensive project and program management framework and materials to
support Oracle\\'s growing focus on enterprise-level IT strategy, architecture, and governance. Oracle\\'s Global
Methods team has packaged OUM to accelerate your IT projects. OUM presents an organized, yet flexible, approach.
Its defined, operational framework helps anticipate critical project needs and dependencies. With OUM, you can move
efficiently through the IT lifecycle to quickly achieve measurable business results. 

 

QUESTION 3

According to the recommended training for this exam, when does the Project Manager assume responsibility for the
commitments made during the sale cycle? 

A. During the Risk Management process 

B. At the start of the sales cycle 

C. At the transaction from sales to delivery 
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D. During the Project Closure phase 

Correct Answer: C 

 

 

QUESTION 4

Select the three applicable goals of the OUM Manage Focus Area. 

A. Identify and communicate with project stakeholders. 

B. Effectively transition from the sales (bid) process to Project Start Up 

C. Manage to reduce overall project risk. 

D. Define scope of work. 

E. Decreases implementation time. 

F. Create better project plans. 

Correct Answer: ABD 

/The Manage focus area is organized into 13 processes: (B)Bid Transition (D)Scope Management Financial
Management Work Management Risk Management Issue and Problem Management Staff Management
(A)Communication Management Quality Management Configuration Management Infrastructure Management
Procurement Management Organizational Change Management 

/OUM Manage Focus Area 
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QUESTION 5

Which two statements are true about the Change Control Board (CCB)? 

A. It meets daily during Project Execution and Control. 

B. It is an internal project organization that is responsible for reviewing and resolving change requests. 

C. It is a person, group, or business that has a shared interest in a particular set of activities. 

D. It escalates changes affecting scope to the steering committee. 

Correct Answer: BD 

B:CCB is a review committee that discusses and approves requests for changes to On Demand customer system
configurations. The change requests are fulfilled in the following ways: 

A work guideline is generated by engineering for operations to use and implement. 

The changes are included in Oracle Certified Configurations. 

D:A Steering Committee is a group of high-level stakeholders who are responsible for providing guidance on overall
strategic direction. They do not take the place of a Sponsor, but help to spread the strategic input and buy-in to a larger
portion of the organization. The Steering Committee is usually made up of organizational peers and is a combination of
direct clients and indirect stakeholders. Some members on the Steering Committee may also sit on the Change Control
Board. 
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